551390
239507 2

TIRXTT N0
{a} ::1 0°1907n N170 YW @190 1Y .1

.{an}::l 0°7907 NIT0 YW 21907 2WORY NIPRId0 MRS .2
.27207 IR DIONA 77707 OO0 ORI YIAPY 11 TR MR .3

12190 DR AW 0271907 NIT0? ARAT IR {an} ::1 0°7907 NIT0 YW D190 T 199
aRN7

333
.77 2120 R 2WnN S,E,Z,g... n°07I7 77702 112N

1 0120 RIT IWT N2°KRT L1010 77702 NWRAT 12°RA R1T NWRAT 12X 7AW JWT0 97702 111202
...IRDIT 121 N3 77702 DOIWRIT 0OI20KA

3 3 3 3 3 3
77707 YW 2P0 2°21907 Y70 NP 91 1700 3,3+§,3+§ +=,3+=—+—+—,...X"T

4" 2 4 87
AN
.0°190A7 N0 YW 01007 NX ’7:1|7.‘ﬂ D’P?ﬂ.‘l 2°A19071 NT0 W 72T DR 2w

w
=~
T
N |7 N
| NI~
N—
~— |
w =
T
7\
| =
N—
N
w
T
7\
NP
~—

.1 .
Jdim—=0w27 w1 lim = =6 91237 DR 2Wn7 IR 1PN

nooo 2 n-o

727

M HW *9922 IR RPI @, VKA COOPR MR Y@ =@ +a, +..+a, .. W
n=1

anNT

00

3 3
. E N7 °DI01°RT NV ]351 a,=— N\ 9997 2R N7 anA1T7aR 7Y 11201
2n—1 2n—l

n=1

00

Z 2?_1 =6 v X

n=1




770
. Sn =a t+a,+..+a, "V RvEM MO 2w SPYI 0120 XIP1 MW SW 2PIWRIT 2°I2IMAT N D100

0T
. 3 3 3
" DI30A X 007 1Y 27 W S, =3+ += = +.—— NATIPA NTIA MW 12N
2 4 8 2
5 3
Sn = Z 2k—l
k=1
aa7A7

SDYOTRT MR W D207 XIP3 S=1iMS, 0»phnn 21908 N0 YW (37 K OR) 21230
[N

.17207 MV IR 7IPH2 .0IONA NVIY WARI TR 390 RIT 0P 1T 2123 OR
anRNIT

3 F NNMPa 7RAT70R 702 11120
n- o n - oo

.IimSn=Iim(3+§+§+§+.. 3 j=|im
2 4

59390

00

1
Z ~— LA D130 X 2N
n=2 4n _1

1nd

+... wavow

=1 1 1 1 1
Z 2 _1° 2 _ + 2 _ + 2 _ ot 2 _
man -1 4[2°-1 43 -1 44°-1 4n° -1

1 1 1 1 1
“4n?-1" (2n+1)(2n-1) _Etﬁﬁ 2n+1] i
DPYN 021907 NIT0 W 099977 72K NR KXl
Snzl(l_l+1_1+1_1+m1_1]:£(1_1]
2\2[2-1 2[2+1 2[3B-1 23B+1 2M4-1 2[4+1 2n-1 2n+1) 2\ 2[2-1 2n+l
1707 2123 IR 2w

AimS§, =1 v 923 Iimi=0 W Pon
2n+1

noo 6 noo
==k
:MIR2T MWD DR YX2? W 201K MY 2W 1207 NX 2WA? 7OV 1R)
D120 NTT02 2957 12K K'T) . S, 2 7107 NIRRT DIRT N 2WORY An0N Xivn? .1
(2P
AimS, 2w nxawnt 2

n- o

2979507 27 YW NIDISNT %Inan

N0 MIDIANT NV ARD MP 100 7421 7T P22 PDI01RT NV Q1O DX NIAWI 1AW a7PT Pon? TAN2
.MDIDNIT *IM2n NTYA MW 2W MDIONT MI1APY 70D TA71 MR 07IPT NIA0N



WP X2 [IMS, 21237 9K 77207 MUm 00 a7p im S, 21237 WK 0150 MUY 171

n- o n-oo
D10 RY R
1 annT
XY S, =N P3P 2 NWRIT 2KRA Nk amax 11,11,1..,1,.. A3apn 227900 17702 112

AT M PN Iim S, =limn =

n- o n- o

2 annT

- 1
.0120n IR 77207 Zln(1+— MUT OKXT YR
n

n=1

1Mne
.S, DR 2wn1 R"T 2P2M0 D20 N0 22977 12K DR 2w

S = In(1+%j+In(1+%j+In(1+%j+In(1+%j+...+ln(1+%) =
= In(l;llj+In(%ﬂj+In(3;1j+ln(4llj+...+In(nT+1j =

=(In2—|n1)+(In3—|n2)+(In4—|n3)+(In5—|n4)+...+(In(n+1)—|nn) =
=In(n+1)

7ann oK Mo &' 1imS, = lim(In(n+1)) =0 197

n- o n- oo

nown

lima, =0 xo1mm Y a, Mw7ox

n- o
n=1

hmbh

0120m Y @, Muaw M7 XY X lima, =0 ox X' 1121 1372 XY 19

n- o
n=1

. Iim(ln(ﬂln =0 %2k ,772mn ZIn(1+ lj MUY 2 FRNT IR
n n

n- o

n=1
annT
.1
1 sn= . 1
JdimnG@in==lim—" =120 w pron 27am Zn@in— pilon
e n o= 1 = n
n
59390

2 1
2015n1 ZCos—2 alonRall
n

n=1
1ne
, 1
.272m MR 1971 limcos—; =1

n-oo n



